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Homework Quiz 3, Day 20, 21 Oct 2022 _ 1 MA 131M

1. Let f(z) = ® —Inz. Find an equatlon of the tangent line in the form y = mxz + b at
= 1. You can check by sketching on the -graph. Hint: No calculator is necessary for

this problem.
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the following properties.

(a) There is a removable discontinuity at z = —2.

(b) There is an essential discontinuity at = = 0.

(c) lim f(z) =
(

z—0~

d) lim f(z)=-1.

z——21
(e) f(2)=1.
(f) f(z) is continuous at z = 3.
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2. On the grid below, sketch a graph of a function f(z) with domain [—4,4] which has
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3. Find all-local extrema of f(z) = 2z — 4sin(z) on the 1nterval [0 ] You do not need

- to make a sign chart if you know an easier method.
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ln(:c e“”) by a,ny method. Hint: It might be easier to

4. Find the derivative of f(z) =
simplify with rules of logarithms. first.
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5. Consider the following functien. ‘What is 11151 g(x)
o) =472 <2,

+3 - 3z+a, T >2.

. 7(-&7 2 X 3y~ ‘ : a-i



